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Correlation functions
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White noise
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implies all y caused by x12 =γ

02 =γ Implies none of y is caused by x

2γ Is thus a measure of the identification

9.02〉γ Is usually the minimum 
required

The coherence function may be used as a measure 
independently for separate frequency ranges

Use of the coherence function
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Errors
Aliasing (Sampling)

Random  (averaging)

Leakage  (Windows)

Bias         

Insufficient resolution (N)

------------------------------------------

Input-output additive noise

Delays

Unmeasured excitations
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Random Errors – theoretical values (Bendat)

ˆ γ 2 Is used for error estimationNote:
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